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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OtdusHE R34l E4
150,000+ 12& 1,800
02 S3=gHl 38,400 0 38,400
OXIINEZ 1,200,000+ 12 14,400
Odotrz 2,000,000+12 24,000
HHE=S2 M2i2el 210,603 445,159 A234,556
= 75,000
Al 135,603
SEESEHEAMSE 2t 60,603 105,413 AN44,810
201 er23| 23,928 23,928 0
01 At2teltl 16,328 16,328 0
O48 - ds FFI| S=HAM
100,000 224 200
OEY2g AHtxzA 9 & AIZE4H
250,000 2004 A 5,000
OtisA NSHBHE(AREX) M=
500 *10Z5+200H 100
OstZ 2t =5Ate o2 MA
2,000 *4000H 800
OstZ2AE+ TA-7Y
50,0002 *4 240! 800
OSAZAIE NZBA =2(HDIIE, =2
2 JIEH 100,000& * 102 1,000
OUDIIHEAIE LE AL AISTHF
100,000& *6IH A= #22] 1,200
ORHIRIN(EE) 298 A28 78
500,000 24 1,000
Otfisgda AN-83EE 228 7 718
—HAS MA 100000243 300
—pHEIAE HIOIIH 20,0002 *10H 200
-9, ¥ & 21,800~ 10& 218
OHJIZ sE8SII= X 5,000
—XNZHDI=S 100,000& »20& 2,000
—ag, ALHDI=S 150,000& »20E 3,000
O%FEHE 228 7Y
170,000& +35 510
2 S22l 7,600 7,600 0
ORHIAIN(EE) HHMAEEHS
1,000,000 = 1CH 1,000
ORoHI#IIN(EER) | - =2/l
2,000,000 *1CH 2,000
OSgIHA=sEI| =cl
100,0003 *1CH*12] 100
OOIAMIZtR 2+0IFED| =2l
100,000 » 1CH*32] 300
OASEEI| =cl 100, 000& »2CH*23] 400
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el BHESE M2l EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
OMSEEI| ==cl 100,000 *1CH*22] 200
OBINSES MY ABH L RS2
300,000&* 12043 3,600
202 04| 8,400 8,400
01 2LHA b 8,400 8,400
OBFNE LLE 2HOIH|
20,0002 «4H+72x 12042 6.720
OstZega ) glaxel
20,0003 73] *12)H & 1,680
206 M=l 985 985
01 M=4l 985 985
OH=228EZA Mg 2
1,500& *500H 75
OH+2YZAA FaselY 29
10,0002 *40H 400
Oy MHE s 7Y 510
—ANETHFLE (L) 150,000 * 18 A 150
—ASTHHEE () 10,0002 *20H 200
—Ost= 10,0002 * 167H 160
301 EtE NS 2,100 2,100
11 dAMEEIXIE S 1,100 1,100
o2 g8 F0A &Hl2d
10,0003 x2& 20 400
OgZga ¥l S AHIEAE
70,000& %102 700
14 JIEt2 8= 1,000 1,000 0
QI20l BFQY AT HAZ
1,000,000 1,000
401 Al HIZ 2018 25,190 25,190
01 Al&H| 25,190 25,190
O=tetArd &4 28 ZX
2,290,000 * 110 £ 25,190
OIMEX SHHE ol - ZAAL(ZFYEX) 150,000 148,946 1,04
[ 75,000
Al 75,000
101 e124d| 131,390 130, 146 1,244
= 65,695
Al 65,695
M JIZtHZ2 RS2 131,390 130,146 1,244
ODINISXl SHHE 2ZAIE 21| 131,390
—J=2 2,050,000 x5S+ 1100 & 112,750
= 56,375
Al 56,375
— %X 78,0002 x5 » 11 4,290
[ 2,145
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Rl BiE=E dZad (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 2,145
—=28= 2,670,000 x5H 13,350
[ 6.675
Al 6,675
— =4l 200,000 +5& 1,000
fas 500
Al 500
201 er2 3| 18,610 18,800 A0
[ 9,305
Al 9,305
01 At 2|l 15,750 16,400 AB50
OARESSHI 1,000,000 *14] 1,000
[ 500
Al 500
OXt&r& Rl 1,250,000 «1CH*11OH & 13,750
= 6,875
Al 6.875
ODIMIEAl SYHE BN BES=23,
AQE L OJIXH 2L
1,000,000 *14] 1,000
[ 500
Al 500
2 35244l 2,800 2,400 460
Oxtg 7=l & FXI==clH|
260,000 «1CH* 1104 2,860
= 1,430
Al 1,430
St JHRE OiolEd =4 23,853,368 28,418,067 N\4,564,699
= 11,726,813
= 2,173,925
Al 9,952,630
toletd el 23,853,368 28,418,067 A4,564,699
= 11,726,813
= 2,173,925
Al 9,952,630
Jl=dst tIsJlet 25 64,636 407,020 N342,384
101 @12A4H| 44,816 49,000 4,184
04 JIZtN22 XS 2+ 44,816 49,000 N4, 184
O =3tz 2el 22| 44,816
—Q1244| 40,291,000 40,291
—40HEE 4,525,000 4,525
201 er23| 10,400 7,400 3,000
01 At2teltl 8,000 5,000 3,000
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Al 12,460
14 0Bt 243 24,920 1,440 23,480
O2a0tA 2= ISt H$HAEQIER o1l
SE=EONI= 24,920,000 24,920
= 12,460
Al 12,460
HIISEX 2ESAY 6,762,100 10,062,547 A3,300,447
= 2,500,000
== 783,100
Al 3,479,000
402 2I2E X201 & 6,762,100 10,062,547 A3,300,447
= 2,500,000
= 783,100
Al 3,479,000
02 RIENZASEZ(0IETHR) 6,762,100 10,062,547 A3,300,447
OXIIsENSA 25 A&
13,524,200 *500CH 6,762,100
= 2,500,000
= 783,100
Al 3,479,000
Mt EX 25 At 4,483,000 6,272,000 A1,789,000
= 2,800,000
= 297,000
Al 1,386,000
402 2I2FX=01 & 4,483,000 6,272,000 /1,789,000
= 2,800,000
= 297,000
Al 1,386,000
02 QI A2 AL E R (0IHTHE) 4,483,000 6,272,000 A1,789,000
ORI B2 B2 Mg
22,415,000 =200CH 4,483,000
= 2,800,000
= 297,000
Al 1,386,000
HII0IEX 2ESAE 143,360 157,560 14,200
= 64,000
= 15,360
Al 64,000
402 QI2F X201 & 143,360 157,560 14,200
= 64,000
< 16,360
Al 64,000
02 QI X2 AL EE(OIHTHE) 143,360 157,560 A14,200
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OTEII0IE R 2= X (80CH)
1,792,000 *80CH 143,360
= 64,000
[ 16,360
Al 64,000
HIIHA E5AE 1,452,000 1,210,000 242,000
= 840,000
[ 252,000
Al 360,000
402 QI2F X201 & 1,452,000 1,210,000 242,000
= 840,000
S 252,000
Al 360,000
2 QIZERHE AR 2 X (01 R TH) 1,452,000 1,210,000 242,000
OFIIHA Pl X
121,000,000 * 12CH 1,452,000
= 840,000
S 252,000
Al 360,000
=40 ESAE 200,000 200,000 0
= 100,000
S 20,000
Al 80,000
402 2I2F X201 & 200,000 200,000 0
= 100,000
= 20,000
Al 80,000
02 RIENZAEE X (01 THR) 200,000 200,000 0
O&IIZ40| E5AHY
20,000,000 *10CH 200,000
= 100,000
= 20,000
Al 80,000
FAMIINSA 22AH 3,450,000 4,899,000 A1,449,000
= 2,250,000
= 500,000
Al 700,000
402 2I2FX=01 & 3,450,000 4,899,000 21,449,000
= 2,250,000
== 500,000
Al 700,000
02 QIZEN 2 AL EZ(0IETHR) 3,450,000 4,899,000 A1,449,000
O=A&IIXt B2 X2
34,500,000 *100CH 3,450,000
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Mm: 9f] WRE 0DIBE TA
chel: ez 2el (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,250,000
=S 500,000
Al 700,000
JJelRuc|El S8 oZet 22 & 2L 465,000 207,150 257,850
< 40,000
Al 425,000
401 Al HIZL 01| 420,000 30,150 389,850
= 40,000
Al 380,000
01 Al&H| 420,000 30,150 389,850
O&JINSA S8 EHl
200,000%1007H 2 20,000
OISt SXI| EXI(S8)
3,000,000& *12071 360,000
OMIINSK SEFHI| EX(SES)
40,000, 0002 »1CH 40,000
= 40,000
402 212 X201 & 45,000 177,000 A132,000
01 QI X2 AL E R (KHMITHE) 45,000 0 45,000
OISR 2£FHI| EXXNA(HISS)
1,500,000& *307| 45,000
0120l SSXtE2l LPGRH &k XIZ ArY 105,000 203,000 88,000
= 52,500
Al 52,500
402 2I2FX=01 & 105,000 203,000 98,000
= 52,500
Al 52,500
02 QIZEXHE AL E X (01 & THE) 105,000 203,000 88,000
OO0 el0l Stxte LPGRH &ah XA
7,000,000 * 15CH 105,000
= 52,500
Al 52,500
HADIARIE HEH 2X3 94,000 294,000 200,000
= 47,000
< 9,400
Al 37,600
402 QI+ X201 & 94,000 294,000 A.200,000
= 47,000
== 9,400
Al 37,600
02 SIINEANSEX(0IETHR) 94,000 294,000 A.200,000
OHHNAXSA H=tl XA
94,000,000 94,000
= 47,000
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el tiolagdatel (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 9,400
Al 37,600
X BHIEItA M2ZAY 5,278,578 3,507,900 1,770,678
= 2,675,539
< 201,865
Al 2,401,174
201 er23| 10,000 15,000 25,000
01 At2tltl 10,000 15,000 /5,000
OXJIHA EX3 & HR2UH ===
5,000 2,000CH 10,000
402 2I2FX=01 & 5,268,578 3,492,900 1,775,678
= 2,675,539
= 201,865
Al 2,301,174
02 QIZtXt= ALY _t.‘__._(OIX‘|XH°4) 5,268,578 3,492,900 1,775,678
Ok= R ZJ|HX K&
4,037,300,000& 4,037,300
= 2,018,650
= 201,865
Al 1,816,785
OLPG 2t=xt AR 7 X2
1,000, 0002 *70CH 70,000
= 35,000
Al 35,000
ODPF(OHHMZEXI) S22
3,300,000 «225CH 742,500
= 371,250
Al 371,250
OHEIAH A& DI 16,500, 0002 «25CH 412,500
= 247,500
Al 165,000
OE37I12t BUEX dsKA2ell
6.,278,000& 6,278
= 3,139
Al 3,139
-SRI 2HE 2= 38,350 38,350 0
201 er2 3| 15,860 15,860
01 AtR2telHl 2,000 2,000
OtiEotA bseSite 2dMe £ NSl
Al eHH=Z M= 2,000,000 2,000
02 S3=2g4l 13,860 13,860 0
OHE0tA bSeEXte HEAAE Seltl S
2,310,000 *6LH 13,860
403 AXIEHMSAH=0lH 22,490 22,490
02 S 2SOt et == 2 E A I 22,490 22,490
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3 9 JiRe toletE &4
chel: ez 2el (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OUHEIL 5SERE HHEALE 2E 2L
Bl 22,490,000 22,490
NSAH BHEJIA RIS 5,060 6,960 21,900
201 Let=23 | 2,060 3,160 AT1,100
01 AtR2te|Hl 2,060 3,160 1,100
OMNSAt tHEIIA S| S&HA == 660
—CO/HC/ SO UL E/N0 ZF 0|
260,000 260
—HH=EDI 250,000 250
—HFEH 150,000 150
OXSxt HEMHA SFI| 2282 7 (2H,
A, HM 8) 500,000 500
OXsxt HiEtA FEI| =2/l
400,000 400
OMSAt HHEJHA B 2t S==2 M&
140,000 140
OXSAt HEtA B 23 425 1Y
150,000 150
OXSt 33d Mt s+=2 S M
210,000 210
401 Al HIZL 01| 3,000 3,000
01 Al&H| 3,000 3,000
OXsxt B3 HEXS et wil 2 2
= 3,000,000& 3,000
OIMIZAI Lo M =& 60,100 2,000 58,100
201 fet=23y| 2,000 2,000 0
01 AtR2te|HI 2,000 2,000 0
OtIIHE 2= M 2,000,000& 2,000
403 AXIEHHSAH=201H 58,100 58,100
02 S 2SS0t etk =2 & 2 E AL ] 58,100 58,100
OE=d OIMAX HA2e|dE AFEHI
58,100,000 58,100
2 2dEA 210,000 210,000
402 2I2F X201 & 210,000 210,000
03 2IZ+RAETAIS I 210,000 210,000
Oc2¢ AHA(HLUS)
45,000,000 45,000
Oz BIHA(S0IS)
50,000,000 50,000
O=29 sHeD(HLE, S0t5,Hels)
115,000,000 115,000
Uolstd=32 &35 30,000 195,000 165,000
401 Al HIZ 201 30,000 195,000 /165,000
01 A28l 30,000 195,000 165,000




S BB
M St Re toletd x4
chel: ez 2el (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Ol EZY OlHH(ESEFEH L)
30,000,000 30,000
Holet3=dy ael 28 145,680 127,680 18,000
= 54,000
Al 91,680
201 et 3| 37,680 37,680
01 At 22|l 27,240 27,240
OII=84 2E 4225 72¢
5,000,000 5,000
OotI2g Ns=HII| BZA =8
700,000+60 &= #2002 8,400
OOIMZHA AIZIHFI| S=BA =2
900,000%2H & 2*4T} A 7.200
OJIM=EII| BE 248
830,000430 4 2,640
OQELMI| U HYRYN DY 248
2,000,000%29H 2~ 4,000
2 ZZ2H| 10,440 10,440 0
OUIIZEA &IIR3
250,000%30H4 2+ 122 9,000
OUIIZEA ROIRHIAAY 2
120,000% 104 A+ 122 1,440
402 QI2F X201 & 108,000 90,000 18,000
= 54,000
Al 54,000
03 2I2+RAETAIS I 108,000 90,000 18,000
OUIZEA 2% - 22|
18,000, 000%69H A 108,000
=S 54,000
Al 54,000
OHAEE DI BZAIAAE 25 76,220 76,220 0
201 =3 5,000 5,000
2 s323H| 5,000 5,000
O=0tate OIS BZAINAE HIIRs S
2,000,000& 2,000
O=JHetE OIS EZAIAIAE S/W RX2te]
3,000,000 3,000
206 M=H| 10,000 10,000
01 M= HI 10,000 10,000
O=7JhE IS EZAANAE 225 7Y
25,000x105*400H =& D1 D 10,000
401 Al HIZL 201 40,100 40,100
01 Al&H| 40,100 40,100
O:‘jf et CHO I ZAIAI A B (FDISAIA
4 5) «ell 2,000,000%59H 2 10,000
O=Jhete DI ZEZAAIAE MM DI 30,100




M 23
M oD RS HDIEE X4
ol o1tz el (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—gstas =50 dA DA
1,200,000%57H 2~ 6,000
—22LI0t FFI1J| A wHl
1,200,000%57H A 6,000
—VOCEE (D] dA WA
2,000, 000%49H 2 8,000
~AR.5EFID ZE DA
65,000+501 2 #2872 9,100
—JIA=HI| MM DA
500, 000%27H 2 1,000
402 2I2FX=201& 21,120 21,120
03 2IZHAETAIHHI 21,120 21,120
O=tete QDISEZANAE 29 - 2e]
af 110,000% 1674 A+ 1200 2 21,120
sSFEZE 2 7,600 7,240 360
201 er23| 6.600 6.240 360
2 s5=34l 6,600 6,240 360
OsEmZE MY SM3
550,000 x 12 6,600
206 M=H| 1,000 1,000
01 M= HI 1,000 1,000
OFM2E A2F FU(HA 2371 8)
10,0003 *100H*10& 1,000
HEE MsA 229 EXIXNE A 215,000 120,000 95,000
= 129,000
Al 86,000
402 2I2F X201 & 215,000 120,000 95,000
= 129,000
Al 86,000
02 RIEN 2 AL E X (01 THR) 215,000 120,000 95,000
OIEE M=A 2Y2f 23 Al
100,000& %2, 150CH 215,000
= 129,000
Al 86,000
ARIE HSANE 2etd 22 B3 MY 4,000 4,000 0
= 1,200
Al 2,800
402 QI2F X201 & 4,000 4,000 0
= 1,200
Al 2,800
02 QIZHRHEAI 2% (01F TH) 4,000 4,000 0
OFANE BB 2L 2SI
800,000 +5CH 4,000
== 1,200
Al 2,800
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3 9 JiRe toletE &4
chel: ez 2el (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
FEHAZ M N3AAMY 214,764 0 214,764
= 119,314
Al 95,450
402 212+ X+=01 & 214,764 0 214,764
= 119,314
Al 95,450
02 QI XHE AL E R (01X THE) 214,764 0 214,764
OFFoz M&t KA
107,382,000%2 214,764
= 119,314
Al 95,450
MRe =2ed x4 12,539,910 11,947,304 592,606
= 1,859,000
= 4,275,000
Al 6,405,910
FEeg a2 12,491,910 11,902,280 589,630
= 1,859,000
[ 4,275,000
Al 6,357,910
olds =22l 25,840 23,840 2,000
201 er2 3| 25,840 23,840 2,000
01 At2t2lt] 23,840 21,840 2,000
O+B2AABHEA) 248
183,000%25 A +43] 18,300
O=ZZA(ota =) 222 W8 7L
1,500+50H*42] 300
O+EE™ (=8B 428 7Y
600,000%25 1,200
O+TEF (28 DAY 72
50,000x45*42 800
Ox=Z2c| 82 &= NH =
60,000% 127K 2 *22] 1,440
O, PH =8J| =& 882
300,000x35 22 1,800
2 s5=4g4l 2,000 2,000 0
OL=xelAle &JIes 2,000,000 2,000
HAIZSSlE A =29 4,000 4,000 0
307 gl2to| & 4,000 4,000
04 QIHHAIAIH 2 £ 4,000 4,000
OHMIAI 29 & &A} 4,000,000%12] 4,000
S3F MEHCHY SIAAMY 2B H(HEALY) 9,726,570 3,419,000 6,307,570
[ 4,275,000
Al 5,451,570
401 Al HIZL S 0HYI 9,726,570 3,419,000 6,307,570




A 3
M RE +TY XM
el e i (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,275,000
Al 5,451,570
01 Al&H| 8,653,000 3,324,000 5,329,000
O==d dHoId SAAE 2 SAHl,
Al S(&E) 8,653,000,000& 8,653,000
= 3,803,980
Al 4,849,020
02 Zeltl 1,068,570 90,000 978,570
OZeldi(AE) 1,068,570,000& 1,068,570
== 468,570
Al 600,000
03 Al 20HHI 5,000 5,000 0
OAIE 2B (& &) 5,000,000& 5,000
= 2,450
Al 2,550
Y DORHEEA 2BHFAE 21 2,655,000 7,930,000 5,275,000
= 1,859,000
Al 796,000
401 AIEHIZ SR THYI 2,655,000 7,930,000 A5,275,000
= 1,859,000
Al 796,000
01 Al&H| 2,345,000 7,620,000 25,275,000
OZ A ENFAIE £X
2,345,000,000& 2,345,000
= 1,642,000
Al 703,000
02 Zeltl 300,000 300,000 0
OZell 300,000,000 300,000
= 210,000
Al 90,000
03 Al 20HHI 10,000 10,000 0
OAIZ20HHI 10,000,000 10,000
= 7,000
Al 3,000
F0d 2432t JUIAE 80,500 80,500
401 AIEHIX SO 80,500 80,500
01 Al&H| 80,000 80,000
=08 &332t JHIAY AlEHl S
80,000,000 80,000
03 Al 20HHI 500 0 500
OAIZ 20HHI 500,000 500
e 2t 48,000 45,024 2,976
o2 2te 48,000 45,024 2,976




M 23
M RE 2TSY X4
ol olggadl (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 38,500 36,524 2,976
01 At2teltl 38,500 36,524 2,976
OZ 0t ot E AL =8 24,500
—AE(ESH) 429,000+97H 4-+23] 7,722
—ol==(S3%) 550,000%9H 2+23] 9,900
—of=(2Erer=s) 135,500+90H A= *42] 4,878
-0 R (535 3&3) 250,000+85 2,000
Odlilgr &% Xtz 10,000
—ot2E T AAM d&SRE
2,000,000%4 2| x 1% 8,000
—olY FFELEAL S dHSR=
2,000,000+ 12| %1% 2,000
O=+ZflL2IAD 8 & XMel(HIISX
2l & ZHIYRH) 4,000,000 4,000
307 @20l & 9,500 9,500
02 QA HAIEE X 9,500 9,500
O0dtd ot =S EStAtY 9,500,000 9,500
HRes(sdn) 32,713 241,230 A208,517
WA XIE 32,713 241,230 A208,517
WA XIE 32,713 241,230 A208,517
701 JIEtRI HSHES 32,713 241,230 A208,517
01 JIEt=I AN ES 32,713 241,230 A208,517
O=Zd SE3H ME=(0rSot=XelAl
& 294l AlHIRE2) 19,276,000 19,276
O==Zid SE3 HES(RIHA22 X
e1244l) 13,437,000 13,437




